Paper: B.E_B.Tech

Set Name: | Set 20

Exam Date: | 27 July 2022

Exam Shift: | 1

Langauge: |Marathi

Topic: Mathematics-Section A
Item No: 1

Question ID: 1169401

Question Type: | MCQ

YA R, d R, T = U1 Hd1dR IReAld bold 964 A a R, b= ab>04d

Question: aR,beoazb W
@Teiieiid! BIuTd faur Je 311 2
A: R, is an equivalence relation but not R,
B: R, 1s an equivalence relation but not R;
C: both R, and R; are equivalence relations
D: neither Ry nor R, 1s an equivalence relation
Topic: Mathematics-Section A
Item No: 2
Question ID: 1169402
Question Type: | MCQ

TS f, g: N— {1} — N Bl Td Wleild YHUI O1Eid Sl 3HTed. f(a) = o,

Question: Sioe] p HE5 TEAT 3RT T p? = a AT YR 91 ST 2 o 9 FalE [0, g(a)
—q+1TdaeN-{I}RPAf+¢g

A: BT U g W HBIaD lel

B: HTBGD 31 Ui UBTH U ATg|

C: TSI U d 3D1Gd alal e

D: UGN UF d ABad I BIvde! Al

Topic: Mathematics-Section A

Iltem No: 3

Question ID: 1169403

Question Type: | MCQ

Question:

TS 3= |2 4z =3P 4 o= 61 -2 € C ATPAA TR v, T 2= 2, R U 5Ll
2

s - 7
EZD'—2'3+3 +vo =

L 0 0




A 1000
B: 1024
C: 1105
D: 1196

Topic: Mathematics-Section A

Item No: 4

Question ID: 1169404

Question Type: | MCQ

Question: B A=[_12 _251 do,peERIN AMBAP a2 +pA =2, Wa+pITTA =

A: -10

B: =

C: 6

D: 10

Topic: Mathematics-Section A

Item No: 5

Question ID: 1169405

Question Type: | MCQ

Question: (2021)2022 + (2022202l I 7 A UM AHI 3.

A: 0

B 1

C: 2

D 6

Topic: Mathematics-Section A

Item No: 6

Question ID: | 1169406

Question Type: | MCQ
TS ay, @y ..o Ay, ....... B ARG ST TTOIG HET 3178, SR Fe =1 dfge

Question: I ueil SISt @ Uit 9 yeidl adiel g Uik 5 - 17 3¥d d
110 < ay5 < 120 TR FrAT Ufgedr eI UG allel 3.
290

B: 380

460




D:

510

Topic: Mathematics-Section A
Item No: 7

Question ID: 1169407

Question Type: | MCQ

AT f: R — R § Weiid WH10] ogRdld daldd Hd 3HTe.
f(x]=asin[#]+[2—x].ae R,

RSO et (1% ¢ Qe i e <t Het o e o3, W lim £ (x)
4
SHFETETT 38, W [ f(x) dr = :
]
A: 1|
B: =2
C:
D: 2
Topic: Mathematics-Section A
Item No: 8
Question ID: 1169408
Question Type: | MCQ
Question: _[:;: [Ssmx szr}dx m@ﬁﬁﬂﬁ?ﬁaﬂﬂﬁﬁ%ﬂ?w@ﬁo
A: E«:: I < S—I
L) 4
B: E«: I« q—x
5 12
C: S_TE o £J‘E
12 3
D: S—K <I<T
Topic: Mathematics-Section A
Item No: 9
Question ID: 1169409
Question Type: | MCQ




Y =8x+4T 21 24 4 fBx—4=0 TNTBHI ST Deted] Y HRITE GAHD

Question:
3ITE.

A: %{2—12J§+Sn]
B: i(2—12 3+ 67

3 !
C: %[4—12\/5*.57:]
D: i(4—12 3+6r)

3
Topic: Mathematics-Section A
Item No: 10

Question ID: 11694010

Question Type: | MCQ

%: vty T1 AP THIBROTET y = 3, (0 T 3= 1,(x) TTEH T SHeit SR

Question: \}Eﬁ;ﬁ ¥1(0)=0d3,(0)=1. dXy=y,(x) Ay =y,(x) il &g ﬁ_g{_tﬁ T
318,

o0 W >
Wk =|o

Topic: Mathematics-Section A

Item No: 11

Question ID: 11694011

Question Type: | MCQ

P(a, b) 81 3170 )2 = 8x AT 1 (6 3118 1. SR P Ul figd Pledd]
Question: WD 22 + )2 — 10x — 14y + 65 = 0 T TGDTT BISG W, TS o =T

T ST 4 fbHd =1 VISR A 3(Te 9 b =01 T SR 94 febad
OISR B 8. T4 + B I el 3R,

A: 0

B: 25

C: 40

D: 65

Topic: Mathematics-Section A

Iltem No: 12




Question ID: 11694012
Question Type: | MCQ
- . : = . :
5 A a =i+ j+ Pk M b=3i—5+4k TaH IGT AEd
uestion:
— = ;
Axb=—i+9i+12k. TR h—2a TIT b+ o 9 YT SIET EIE
A: 2
39
B: —_
3
C: 0
44
D: —_
3
Topic: Mathematics-Section A
Item No: 13
Question ID: 11694013
Question Type: | MCQ

szzf—j+5ké{ﬁ§=uf+fif+2k.ﬁ|'€[(:5>x E]x;-].;'czﬁ,a?

)

Question:
— Al
bX2f| T =——
A: 4
B: 5
C: 421
D: 17
Topic: Mathematics-Section A
ltem No: 14
Question ID: 11694014
Question Type: | MCQ

U § 1 UM 3] Fd T THA1 DI 35, S A Tefasd o

Question: Hased e 7 =1 9dld srfe w5 A faursg T8 g YU oR p
3E, TR Op = :

A 1.0146

B: 1.2085

C: 1.0285

D: 1.1521

Topic: Mathematics-Section A

Item No:

15




Question ID:

11694015

Question Type:

MCQ

FH U1 HUIE BEHIAR 2/ Gl SUT TART 4B U 3HTe. TG HEHaEA
Uh 599 P (43U 20 Udel S9d BIH 3= T-1-01=] £ Ude! Jdl uTg b,

Question: oIl P fqU 4 3fARIGR 7 =0T =i oiTdl dogT dl =0T fa== Sl degT dl o
Yael 3Ad P P& A TP B TR UPAL R 4 f7 j, A TR tan o=

A: ,\E 8

B: \E K

C: _J?_ =T

D: G-

Topic: Mathematics-Section A

Item No: 16

Question ID: 11694016

Question Type: | MCQ

Question: W (pAr) = (pA(~g) T (~p) S I 3, Bl » 3TE.

A: r

B ~p

C: q

D ~q

Topic: Mathematics-Section A

Item No: 17

Question ID: 11694017

Question Type: | MCQ

UHHBIHT Od SUIT 2x + hy — 5z =19 3k — ky + z =5, k< 3 Uddidl 94

Question: IO WI0TR W p OR U x-HETIR U Th P SRS DRId A, TWp -
S7&JTAR hoial Hdwa 3.

A: i
11

B: E
11

C: 6

D: T

Topic:

Mathematics-Section A




Item No: 18
Question ID: 11694018
Question Type: | MCQ

HHSI A(1, 1), B(—4, 3), C(-2,-5) & AU 4BC = RRIfdg sed. PETBC A
SISl U [6g 3118, A,d A, BI 3IehH HIBIV 4PB d 4BC dl &FH0s 3Ted.

Question: .
TRA; 1 Ay=4: 7 TR INAP M1 4C T SR x-31&1 T TG Pored] YR
gAhD 3.
1

A: -
4
3

B: -
4

. 1

C: 3

D: 1

Topic: Mathematics-Section A

Iltem No: 19

Question ID: 11694019

Question Type: | MCQ

SRAGD 2 +12 —2gx+6y—19c=0, g, c € R (6, 1) UT fagq ofid sl@ @

Question: qIoT g x — 2cy = 8 U1 AR 34T, TR a1 x-HEIR Dol HaRBarH!
oisl 3.

A: Jﬁ

B: -

C: 3

D: 2@

Topic: Mathematics-Section A

Item No: 20

Question ID: 11694020

Question Type: | MCQ

TSI &4 f: R — R GTdild WA AREd D 318

X

[ (s=1t=3))dr, x>4

Question: f{r]z 0
].‘(2 +bx . x<=4
dbe R SR x =4 HAdl £ & Td 9dd A R Gl ol HId faem= g
18l 2
A: x =4 Bl f 8 f[dda-ia Arel.




L

| ey — 39
2 ORSIORSc!

. L 1
C: f is increasing in [—:ﬂ. EJ (8, 2)
D: f has a local minima at x = 5
Topic: Mathematics-Section B
Item No: 21
Question ID: | 11694021

Question Type:

Numeric Answer

TS o T B AT cos(sin™ M(x cot(tan” (cos(sin™! x))))) =k, 0 < x| < % a1

GHIB U=l Jebell Hgd. ouk HADIUidy Bl had 4w fhad! YRl

o | N O T
Question: PN, O (x,_2+[3—2a me*—bx—S:Dmﬂiﬁﬂﬁwmamfﬂﬁ,ﬂ?
b _
K
Topic: Mathematics-Section B
Iltem No: 22
Question ID: 11694022

Question Type:

Numeric Answer

uopT fagmei= 10 AR 099 9 Y=RU1 3954 15 9 15 Dled. oR [garaH

Question: g 15 Uduil 25 81 H3=AT dadll S a @l i sRiaR yaml fade fodl
T 2

Topic: Mathematics-Section B

Item No: 23

Question ID: 11694023

Question Type: | Numeric Answer
T 'TI;‘ = }'i1=%34ax—}'+5:-—7a=[1= 2x—Sy—z—3,a€ R T gHIGY

Question: HRUTTT YcTelTell X 22— J"f . —_—43 &l P(e. B, v) figd &ad. Ra+p+=
Topic: Mathematics-Section B

Item No: 24

Question ID: 11694024




Question Type:

Numeric Answer

2
—

E:Qw—:l%ﬁ@ H;;_é:_lm\}mﬁmfﬁmﬁ@aﬁ%@
g

Vv '\;_'q
b* 49

Question: E 3 S 3181 T Y 3fef S H UG B =T Bad 18] g ST 3187 Taed
W.EHHWGWWW%&H%.WIﬁﬁWEWWﬂWW
3, W 1131 =

Topic: Mathematics-Section B

Item No: 25

Question ID: 11694025

Question Type:

Numeric Answer

sin[zxz] log_ [tan:.r2 ]aﬁ + (4,1:1-' — 4-+2x sin (.1'2 — %}] dyi=0,0<x< E, a1

Question:
IHAD FHIGRUMET IHA GG y = (x) T [\E.l] fagd ofrdl. @ 1[\/’;:]
Topic: Mathematics-Section B
Item No: 26
Question ID: 11694026

Question Type:

Numeric Answer

¥ — 0y +2x =0 I AP ATaRie o1 fagd Bl cied] TRAHT x-SETH JHR
3Ted =11 faal Team M 318, 1 ab T ATaNid ol [dgd dlededl TR y-

Question: E : :
SHETH FHIAR 3MMed 21 foe= G v g, WM+ NI gl
Topic: Mathematics-Section B
Iltem No: 27
Question ID: 11694027

Question Type:

Numeric Answer

HHG f(x)=2x> —x—1dS={n € Z: [f(n) <800}. W Z_Qf{ﬂj St

Question:

Topic: Mathematics-Section B
Item No: 28

Question ID: 11694028

Question Type:

Numeric Answer




THGTS BT 3 « 3 PifCH T I YRUAET I 38 & o0id Uedh

Question: {~1, 0, 1} TTHAIH (oS 3gd. s Hefiet a1 ARuS! 4T 4 =01 94 faepult
Uemidl sl 6 HTE, T GRUGHET Tw= e,

Topic: Mathematics-Section B

Iltem No: 29

Question ID: 11694029

Question Type:

Numeric Answer

W2+ 42+ 2x + By - 3—0mﬁqmwmﬁmm%ﬂaﬁ43ﬂ%&ﬂﬁﬁa{&ﬂ%ﬁ

Question:

e SR A+ =
Topic: Mathematics-Section B
Item No: 30
Question ID: 11694030

Question Type:

Numeric Answer

Question: A S={z€e C:z2+2=0}, X Z z)+Imlz)) =
Zed

Topic: Physics-Section A
Item No: 31
Question ID: 11694031
Question Type: | MCQ

U YUl Hiex aXgaM, Alel d PId T 5% G- Tgy HHD-THT0!
Question: 3T Bl AYAHGR &N YUl HieH BiofciedT AUl (Hade 3l --n-
A: 15%
B: 25%
C: 75%
D: 5%
Topic: Physics-Section A
Item No: 32
Question ID: 11694032
Question Type: | MCQ

Question:

U] Bd® Sa1ae=- 100 m/s I Eredl 31 {S=id U ool
ARl 10 Sbard o] dooTar lelad d diesdid quigul Uy HoraH @R
BId. THUT t = 20s HIA! d71-bIel dsh BIGl. AT, g = 10m/s”.




Vv A
A IQ.\' 2{.} 5 -
— 100 m/s Q
=200 m's +
v
+ 100 m/'s -\
B: ' : S f
— 100 m's 4+ 10 20s
=200 m/s +
v
10s 20s
C: : > |
= 100 m/'s +
L
100 ms +
5 0s
D: 10 s 2' § S 1
- 100 m's /
Topic: Physics-Section A
Item No: 33
Question ID: 11694033
Question Type: | MCQ
Question: 5 ms™! I TIAT ST T 0.5 kes™! G fRR 470317 dl
' T d T8, YT TE G T(THI AGVGTATS! ARTACH TGl —-mee- 3.
A 1.25W
B: 25W
C: 6.25W
D: 125 W
Topic: Physics-Section A
Item No: 34




Question ID: 11694034
Question Type: | MCQ
2 m/s ATEE TTHE WWWW@TW eIl Ueld

TaRI 97 G 907 0@ 0.4 3. aTaiy UNUHe Yiguargdl Yol a1

QUESION' | ey TR, SRRV Tl WaTell S47T Tl UR 01t SfeR 3118,
[0 g =10 m/s?]

A: 2m

B: 0.5m

C: 32m

D: 0.8 ms

Topic: Physics-Section A

Item No: 35

Question ID: | 11694035

Question Type: | MCQ

16 cm? UG¢ GRET PICH4 &ADD Il I Toohisui=al Hisdld 3IHH
100 cm @ 150 em ST d U0 318, St HiS! UGHGIY SISl fTed 30 &I

Question: | rgicier urvar Tros) TR SIS, & U T AT HAq BT e
378, K2R YU 94T = 10° kg/m® d g =10 ms™]

A 0257

B: 1]

C: 31

D: 121

Topic: Physics-Section A

Item No: 36

Question ID: 11694036

Question Type: | MCQ
AT B RIS SUdsi= T[UNRIR 4:3 3R gediiad! o 3 3r d 4r

Question: F= agoTHR Had Bd 3Med. A d B SRIaR UVl FilAd Joid
TUITR - 314

A: 9:16

B: 16:9

C: 1:1

D: 4:3

Topic: Physics-Section A

Iltem No:

37




Question ID:

11694037

Question Type:

MCQ

SR K, 9 K, &1 30 argdhdl. L, 9 L, @il @il 4, 9.4, ST AE deae
Wﬁwﬁ@aaﬁwmmwaﬁ%:gﬁ:f
1

1
S
4, I i

TPl qRafacedn Aigvild T 9 R Rydid srydarr Wi 9 sio=ar 94i=
ATIH (T) ---m-

Question: |
mae L1 | lee box
45000 Steel I{:npper 0| 00
Insulating
material
A: 18°C
B: 14°C
C: 45°C
D: 150°C
Topic: Physics-Section A
Item No: 38
Question ID: 11694038
Question Type: | MCQ
Qrefierie] sRIeR faur o

(A)ﬁ%ﬁ%ﬁaﬂﬂwﬁaﬁﬁmﬁaﬁwaﬁmmmﬁmﬁ
(B)PHQ@WE@WH@WW@WWWC d20°C

Question: 3{13. P9 Q A faciedl dovd aTeR eldaie JI0rd YR Ui TUMRR 1:1:15 38,
(C) 100K @ 400K HeH 14 TR0 HRAIC SFRIATH! &5dT 75% 3078,
(D) Sicgl %d g T HiddTerd dIgHTH dldie Yisdl WHIUI I W ¥ Bl Gar]
I THHMHIEN &R GHUE Blgd. Wl fded mairgd g 3w Hast:

A: A.B.C &

B: A.Bad

C: A.Chad

D: B. C.D dd

Topic: Physics-Section A

Iltem No: 39

Question ID: | 11694039

Question Type: | MCQ




HRE AYHAR, YRS I RAFAT g YisdHe §REME g Rl
3TE. WX 0T b1 TUITR 1:4 31T, TR
<l WSl drg=aT YO[ET qTiHTed a1 aT IR SR,

Question: &I Hisyidid <Tdr= TUIR 1:4 3.
SIaT [0MTR 1:1 378
Gl HisHidia arg=ar YufEn aifeTed avfge a7 are 1O 104 SRS Erel
feeiean gatarg am 3w Hast:

A AdCWmdd

B: B dD Wdad

C: AdB Wdd

D: CdD Whdd

Topic: Physics-Section A

Item No: 40

Question ID: 11694040

Question Type: | MCQ

&I THARE U7 YHR Q UdH! 3 d THHBPIUN ‘2a° Tdll R iara
&ad 3ffed. g YT TyRi=a A Hefdgar gERT fig UHR qp 'm'

Question:
FEIAMFTERISR Saa 3. FiEd YyR STsum=ar WaR Usr f[qa-mai q,
YHR IR Hdd Td1d 3118, qp FHRIET G DI ---nm SR,
A dr'e ma’
V90
B: q{.}Q
dr’e,ma’
c. 2n’eyma’
q.0
5. 81 ma’
q,0
Topic: Physics-Section A
Item No: 41
Question ID: | 11694041
Question Type: | MCQ




IRE fdggd THS 90 e & S%H THEIId Sisd 3Med. § S R &1

Question: SR AU SIS, &1 SeHdl SId A 1y G 1y 318 (1) > 15). O 1y HAd Y
g Seamdie fauaioR Y 3118 R = -—--- .

A: 5 e

rira
B: Sz
C: 1T

2

D: 20
Topic: Physics-Section A
Item No: 42
Question ID: 11694042
Question Type: | MCQ

& UgIaa [EfaeamioR Ydaid Yedieal TRew i &A1 Y 3s d 45 BT

Question: Wﬁﬁmﬂﬂwma@ﬁﬂﬂﬁﬂ?32 &ﬂ%ﬂ?ww
&T@Uﬁ Z[Uﬁ?’l—\r o--- 3T

A: 2:1

B: 8:3

C: s

D: 27:16

Topic: Physics-Section A

Item No: 43

Question ID: 11694043

Question Type: | MCQ

45° I DI il oo Ao ariaRelt 60° I1 B

Question: %ﬁﬂuﬁaﬁqﬁ@%@ ------ SHIe.
A m“"[\@
- ™ (46)
N n ’[E]
D: “‘“_'[ME]

Topic:

Physics-Section A




Item No: 44

Question ID: 11694044

Question Type: | MCQ

Question: 4 A1 fREURT T 4 A RREReAT e’ 4RT 3308 3 @ 2 @ eI drgd
318, S RNTHe) YR dooTd TUR el SUE UIRR 39

A: 3:2

B: 3:1

C: 3:4

D: 4:3

Topic: Physics-Section A

Item No: 45

Question ID: 11694045

Question Type: | MCQ

X-1&{TaR=H SIIUTRT YBTRIihRT faegd &= 31 Ui 3efl 316, E, =
900sin ot — x/c) . * 107 ms™! FTCI Y-3{&TaR THF 3HdHT Wegl UHR q 378,

Question: ﬁaﬂﬂ CRICEEE W CRIE) {Fﬁ?ﬂ fepelt arda? (Given speed of light = 3 x
108 ms_lj

A 1:1

B: 1:10

C: 10:1

D: 12

Topic: Physics-Section A

Item No: 46

Question ID: 11694046

Question Type: | MCQ

A %] GEaldN gad 31Tg (S9ad-1d 1) T 3Td1 daTd gsiadl (3aa-i 2),

Question: fd THRIETS! STl Sadia aaTaial A, 38, damdia et faare-
Yekitdie dad Blel.
A §dd AFTIET daTd faarer e 1 .
4
Bad MU dard fagie ekl Y 3.
C: gad AHIUET daTd [daiel Ykl IRUC 3,
D: Bad SHTUET darld faare et 1 3.
2
Topic: Physics-Section A




Item No: 47
Question ID: 11694047
Question Type: | MCQ
SO (m TEIEM) TN GEATAE AT v=vgi 3 (v, > 0) fIqd &3
Question: | £, TH 1R (£, >0). R ko= nig -+ SR T F-STeht eeTerl -
A: Ly
B: % [1 o ekEpt
mvy

C: At

Ao
D: [l N EEDI]

F?.E'L’D
Topic: Physics-Section A
Item No: 48
Question ID: 11694048
Question Type: | MCQ
Ovostion; | FPRUITSIRY TaTefe 3] Foreh et o T foven 30 e

GEdldil Gedrdl 1/16 Gad @rell Td?

A: 0.5ay
B: 8.5 ay
C: 7504
D: 10599
Topic: Physics-Section A
Item No: 49
Question ID: 11694049
Question Type: | MCQ




UHT dhgR URIUT AT B B (e seda vy AsIg Mg A. BA Ve
lecd] dUR=Y Widl grafdd 3iTe.

Question:

OR gl

NOR gk

O Q| m >

NAND gl

Topic: Physics-Section A

Item No: 50

Question ID: 11694050

Question Type: | MCQ

Question: U 3P RFSE. TV URNU=AT Slaid! St 100 m {18, =T Ueell diFae

A: 200 m

B: 300 m

C: 600 m

D: 000 m

Topic: Physics-Section B
Item No: 51

Question ID: 11694051

Question Type: | Numeric Answer




ST SIURIA 30 em SARTaR D fogaR Y fdg e simg o/ grafdd 3.
O R BT 5.6 kQ 3MTg. Hifgd Tdciedn Ay Jed Q3Tg.

K (+)

Ay R
Question: wa_,
R AT
6}

0 10 20 30 40 5[})60 7080 90 100

I 1 | l 1 1. I 1 | ] |

— :=B>*/ >

30em 100 -/

Topic: Physics-Section B
Iltem No: 52
Question ID: 11694052

Question Type:

Numeric Answer

T Uit 9 AR Paias JUTd U YT 1mm ITE01 @ 10 YT BHIR
gJufidiel & T 4uitdia 0 UITERIER T84, Sieg] SUBRUIH G Glel Uh P

Question: %W.%’ﬁawnmgﬁﬁﬂﬂwmmwwﬁw USdl d g% Yuildie
YT < a] YR S[edl. Sl MR el &F Siioi e Ug dadl, @iHaR
SJUTTET T BT 4.1cm T 4.2cm T€ Udl G 601 cg(-19R Y T& Jufi=ar YHTaRIER
T{J’Eﬁ_tﬁ. Tn@:ﬂ?ﬂw_ 1072 em 3T

Topic: Physics-Section B

Item No: 53

Question ID: 11694053

Question Type:

Numeric Answer

S USRI 1 § 41 diddd Sgfd® 0] H3did d YsSa Sfeesid Uiy daR

Question: DA, G fhRunmeie Mook 29 «/3 8 3IHd AdB fdga 3.
giRomH! digddid B AT B fdgarxr 8. xd el 3.

Topic: Physics-Section B

Iltem No: 54

Question ID: 11694054

Question Type:

Numeric Answer

5 i
50 W. 100 V 9T f&aT 200V, 50Hz FATaaT SR SSHN “f,’ uF G
Question: T x
THHRId s x 9 3da.
Topic: Physics-Section B




Iltem No:

55

Question ID:

11694055

Question Type:

Numeric Answer

Almﬂ'i_ﬂ'ﬁq??ﬂﬁﬁlﬁ?ﬂﬂmﬁqaﬁ.mfﬁﬁmaamlﬂnmﬂ e

Question: g <t AT 3118, TR TIH gelde- sryaaad &« 1072° N 38,
(charge on electorn = 1.6 = 1o-1° C)

Topic: Physics-Section B

Item No: 56

Question ID: | 11694056

Question Type:

Numeric Answer

U] Al Hed sl HIHRAMIT p Cm > 909l YYR THIHH dreddl 3ie.
Wmﬁﬂmﬂmaﬁaa}q&a{mx—ﬂnmﬁ@m

Wﬁﬂ:ﬂﬂ m]ﬂ?ﬂ_\ﬁn 5”%
I

o B

Question:

|

L 1X,

I

|

|
Topic: Physics-Section B
Iltem No: 57
Question ID: 11694057

Question Type:

Numeric Answer

TECToRIHTaR FIUTTET 0.9 ke TEIHM SIS R d A HTTHM A 194 Td1d
3Tg. SiegT d aedHM Heg FRUCIGT Wi, dogl 124 g CECIE r:15|r| d%cjj—lH TaR

Question:
&dd d el A, 3AEE UHH Mg gidld. Gl?—%lgﬂﬁ?ﬁ
H@_Sl@ﬂ.

Topic: Physics-Section B

Item No: 58

Question ID: 11694058

Question Type:

Numeric Answer




W?ﬂﬁ:ﬂu ﬁ@zﬂaﬂﬁ{}cma\_ﬂﬁlﬁ cmﬂ@(ﬂﬁ_&‘hﬂm-@
Question: 25 » 10° Nm™2) 18.0 x 10* N Ud¢ PiR0 9 A AT (AT g5l
diSTaR). Ereite aTe] WiaFTar Rige ot 3ime. adid aoE [T um 3006,
Topic: Physics-Section B
Item No: 59
Question ID: 11694059

Question Type:

Numeric Answer

1.5 m oot U ot fora sfemyiaa woRiRdig F=(12t - 3t%) N Tded g
quiH Sd 3. (OleeT t §1 Yhald Hlera). SR S o=l sigmiadid Jsd

Question: | e 4.5 kg m? 313, Tl Fo v oAl o dctean ufrar of X
A KITE 3.

Topic: Physics-Section B

Item No: 60

Question ID: 11694060

Question Type: | Numeric Answer
m TRIHHTE U 5 341 G0 aR Behall. GIRT 2 m GRIAMTE g 9

Question: AR 6 DI B bbal. Sl §ad YRENH ded gdld. Il dg-i Madedl
é?ﬁ%gﬂﬂﬂ?&r@?ﬁ%&%ﬂx%ﬂ@_&ﬂﬁ

Topic: Chemistry-Section A

Item No: 61

Question ID: 11694061

Question Type: | MCQ

D-TIP I 250 g UTUATIE SIGUId 10.8% (FOFTIER) Bla SRl av dl

Question: SIGUITE HieTerd fepel? (0] GRgH H.1:C.12:0.16)
A 1.03

B: 2.06

C: 3.09

D: 5.40

Topic: Chemistry-Section A

Item No: 62

Question ID: 11694062

Question Type: | MCQ




CIRIEACRGEIERCIIREICRE
fGUTF I: 0,. Cu®™. Fe* B Y1y &1d gaayUl febiNd BIdd, Jaebid &=l
= e IiiRUT dhel STdl,

Question: fdeT I1: NaCl, H,0 gid gdauul 9a@ /Mol 9aoid & [deg 43 98
Id.
Rd fquFiaeE R gaig st
A: alel fae= 1 3101 11 SRR 3fTeq.
B: aIg! faer 1 31101 11 e T 3HTed.
C: fau 1 SRIER 3118 U faur 11 gabid 3118,
D: fae 1 P 318 TR faumr 1 sRIeR 3%,
Topic: Chemistry-Section A
Iltem No: 63
Question ID: | 11694063
Question Type: | MCQ

GTell & a1e Tl 3Ted. s faum= A 3i1e 3ol g8 SRR 318,
Eﬁmg:m@mwﬁmsﬁaﬁaﬁﬁﬁﬁwzsﬁ%ﬁmw

Question: :
PR R: UHTT SUDIAbdIc DIabidl 36l SURhHID qTea HFdl HHl §id.
o’ AR el (el gaidigs Jrg 3R [-1asT -
A: GIGIel A 10T R WX 3M1Ed S0 R § A 9 SRISR WD 38,
B: GIelel A 30T R @RI 3MEd UUIR § A ¥ SRI6R WBIHR0 A6
C: A@%G{I%WUTR@%\W%
D: A I 3T UUTR &R TG,
Topic: Chemistry-Section A
Item No: 64
Question ID: 11694064
Question Type: | MCQ

Question:

G[ell &1 a1 f&El 3184, U faUT A 3118 311U g8 HRUIR TS,

fau™ A: fobam=iia sHadie Pl cH, Ul SO, = SR SR gyEigol
Bl

PR R: 1 dg A A9 SHT 31g 34 91 fobarfia SlogdgT
HEeHEel SN SldTd.

RId AFIER Qe et uaiiqA g 3wk HasT :

GlIgiel A 30T R G 31 d 31U R & A 9 SRR WHIHT g,

alelel A 10T R @I 3BT UUT R § A < SRIaR WYIH0 A8,




C: A R 3G UU R WIE 6.
A @I¢ 318 YU R WX 3G

Topic: Chemistry-Section A

Item No: 65

Question ID: 11694065

Question Type: | MCQ

A T HETTRITE STTET 2% Wil SIauTEl Saba-iag 0T B I STodTl 8%

Question: Wiy gIauiEl Jcbad fig IREE 8. dX A 9 B Ui=41 Y04 qIHH
TS HGE Hay 38,

A: M.—‘L e 4MB

B: MB = 4MA

C: M;—‘i e BMB

D: MB o SMA

Topic: Chemistry-Section A

Item No: 66

Question ID: 11694066

Question Type: | MCQ

Question: W fau™ i,

A: K o1 ufgef emg-ya-re qul 31 € Na 311707 Li Ga BT Sfre.

B: Xe 1 Ufgel T Sra-Ha guf 31 4,

c. SURHHIS 37 SHUIT YelsodT=! gige! Sg-THa- qui 351 38 SUhHID

' YU HAg o9& SHT 3.

D Ga ! TR al ST GU1 ST §1 SURHHID 30 SRIUNT d-5011 HasoaTde
SR 317G,

Topic: Chemistry-Section A

Item No: 67

Question ID: 11694067

Question Type: | MCQ




Question:

GIRTUSD! DI UG d I Y& IR VIS aToRe! oird ATe1?
(A).

(B). =

(C). faggd srere-

(D).

(E). Ie401dH

el feciean yataig gl 3w HasT:

B.D ®dd

A.B.D.E %dd

B.D.E Tdd

Olo|w >

A. C.EWdd

Topic:

Chemistry-Section A

Iltem No:

68

Question ID:

11694068

Question Type:

MCQ

@ral g faym= et amed -
faeT 1. 3T SfIfUT ST a1 alg! uRiRUdd srasior RIFEEs §

Question: HGgSsHND 3”%
fae I1: 208 K &1 SISO URIGISSd] €-d] D,O 2T IcU&T HHT .
NI [quHia= XieR yaig HasT
A: alel fae= 1 3101 11 SRR 3fTeq.
B: GI=el fae 1 31101 11 el 3MTed.
C: fau 1 SRIER 3118 U faur 11 gabid 3118,
D: faur 1 It 3118 IR [AuM 11 sRIeR 3118,
Topic: Chemistry-Section A
Item No: 69
Question ID: 11694069
Question Type: | MCQ
wreit g faur feat sed -

f3eT I Be AT Al Ti=0] FaIRIgSH C1-= YERAAT 318, Gloie] Bla-l
gIabHe favusdid d glelel ddig SR 3fed.

Question: TG II: Be 31101 Al © STUSIGHIS S S AT 3{ehaild favgodid d skicc
317o1 Uegfi-e 3= dOR Sdrd.
R [quHiaes = gaig FHasT .

A: alel fae= 1 3101 11 SRR 3fTeq.




B: a7l e 1 31101 11 I 1=t SMTed.

C: e 1 SRR 318 U= 9T 11 i 3178,
D: faur 1 gopl 31mg U= faur 11 axisR 31Tg.
Topic: Chemistry-Section A

Item No: 70

Question ID: 11694070

Question Type: | MCQ

Question: 1D R ST TS =T B0 AT Faid S Sifaqer 0] STed?
A: URRI%Eh e TS
B EUIGIED IR Ufs
C: BIEmIR® TR
D URRI%Eh e TS
Topic: Chemistry-Section A
Iltem No: 71
Question ID: 11694071
Question Type: | MCQ
arel & fau™ fee omed -

faeT I 3T (111) ISR, SR K,Cr,0, ST &R KMnO,, &40 8

Question: WAAYYl 1~ o TGS HI0 1, HH HE Rbdld.
feT 11 HHe 31 THYSH 1Y 3T IMd pr—pr §4 3R
e fauriae- aRIer uaig fHasr -

A: algl faer 1 31for 11 SRR 3R,

B: aIsl e 1 31O 11 I Tt e,

C: fqem 1 SRIeR 315 U= fay= 11 i 3Mmg.

D: faur 1 gt 3118 IR [Au 11 sIeR 3178,

Topic: Chemistry-Section A

Item No: 72

Question ID: 11694072

Question Type: | MCQ

Question: Mn,0- g Mo=0 S e fddl 31182

A: -

B: 5




C: s}
D: 3
Topic: Chemistry-Section A
Item No: 73
Question ID: | 11694073
Question Type: | MCQ
ST I ATGH I <41 SIS &,
et 1 qrat I
TEUUIPTRI UE & 3SR
A BT (500 ppm) 1 He TeAraie-ma
Question: B. 10T (=50 ppm) 1L GIAIa]id HIBUC SR
C. TS (=350 ppb) 111 HR& TR0
D. RIRIZS (> 2ppm) IV, AU S W Bl
qTei! fadiear gatarg i 3T FasT:
A: A-TV, B-I. C-II. D-III
B: A-IIL B-1. C-IV. D-II
C: A-IL, B-IV, C-I, D-III
D: A-IL B-IV, C-1I1, D-I
Topic: Chemistry-Section A
Iltem No: 74
Question ID: 11694074
Question Type: | MCQ

GTall & a1 [&all SfTed. U faUT A 3118 31101 g8 HIRUI R 3.
farem . 6] Efert, [s) Egfer, Rr-[10] Tfer aifor gi-[10] EferT &

Question: @ ©
Lal Axnnicns 4] ez ¢is - [10] Annulene
HRUT R: WA g ULTRESTE aRIduarmd! aard! TR 3.
oRId arFaR ATd [eedl Ui ard 3w Hasl ;

A: GIolol A 30T R WX 38 d 3T R & A 9 SRIaR WP 3R,




aleiet A 0T R T 38T 9UT R © A J S3a) WPIH0] T8l

C: AT HG U R GIC 318,
A @I¢ 3{Tg UUT R WX HTE.
Topic: Chemistry-Section A
Item No: 75
Question ID: 11694075
Question Type: | MCQ
CH,OH
+HCl—2 5 AN,
Question:
OH
S R4 [ 53 1 £¥1 -3 [ s Q— 38
CH,1
A:
OH
CH,I
B:
I
CH,CI
C: @
OH
CH,CI
D: @
|
Topic: Chemistry-Section A
Item No: 76
Question ID: 11694076




Question Type: | MCQ
YTl 19 g1t 11 =071 Siisd1 @,
YT 1 Tet 11
CREUEED IR A9
A fopara it pidafserss 1. fepra
A
B. 1394 1. Algi®
Question: '\q—E;aEaﬂ:Qfﬁ
C. TAgDIc SHfoT dfeids 1L S-S
ST Uiy
D. TA®Id AT LT eid IV. € P
ST TifeTiee.
ATl feciear yamangd g 3w FasT:
A: A-II, B-IIL, C-TV, D-I
B: A-II, B-IIL, C-1, D-IV
C: A-II, B-I, C-TI1, D-IV
D: A-IIL, B-II, C-IV, D-I
Topic: Chemistry-Section A
Item No: 77
Question ID: 11694077
Question Type: | MCQ

X 1 Qb AT AAHT HIGHTR (ol 81d BR$Rd Heod, S

Question: SHTURET ¢ RETRIATE aRiaR Siifehar el sraar Uisdl deord Jiid 3dig
fieadl. TR X B YD ---—- 31TE.

A: Sfesidetsf

B: &@éﬁk_ﬂ

C: SICRINCa |

D: Wﬁ@ﬁl

Topic: Chemistry-Section A

Item No: 78

Question ID: 11694078

Question Type: | MCQ




1T 1 QIET 11 =07 SISl &G,
qret 11
IRCEULUGIRIGE
A
1. GRELUET 550 U S
B.
Question: CH, CH,4
Cl
NHNH, 1L e deAHES
ﬁ IV. JfaRiees
L‘\
L NH
s/
7N
0 0
gTel! fediear gamang i 3w FasT:
A: A-TV, B-II, C-IL, D-I
B: A-IIL B-I, C-IL, D-IV
C: AIIL, B-IV, C-1, D-II
D: A-IIL B-I. C-TV. D-II
Topic: Chemistry-Section A
Item No: 79

Question ID: 11694079

Question Type: | MCQ

Question: mgi = e &dlc G'J'SEWWD-%SAEBTW-
R T YIS Br 9 CabdR] BIEI. (RUd1g TEIHI AgBr : 188, Br: 80)

A: 34.04%
B: 40.04%
C: 36.03%
D: 38.04%




Topic:

Chemistry-Section A

Item No: 80
Question ID: 11694080
Question Type: | MCQ
Tt 19 ATSY 11 =07 SisaT @,

et 1 et 11
A T3 GorHId FRES L WIUH® HAE Ho@udr! Ol

B. BIpad dedGe Affea | 1 U<Eeay

Question:
C. DS ARG AT 11 fEaa fumaeR®
D. 5IBHA MRUCTH IV ATOSER-e! Aed rgda
i
aTel! fciean gaaTg g 3T HasT:
A: A-IV, B-III. C-II. D-I
B: A-TV. B-1I. C-1. D-III
C: A-IIL B-IV. C-1. D-II
D: A-TV. B-IIL. C-1. D-II
Topic: Chemistry-Section B
Iltem No: 81
Question ID: 11694081

Question Type:

Numeric Answer

ST AT Fe?™ AT 10 mL SIGUIE AT HRUGRIET

Question: 20 mL 0.02 M K,Cr,0- GIuRdl. TR GIGUITdld Fe2™ =t Y0 Yudiadl < 102M
Topic: Chemistry-Section B

Item No: 82

Question ID: 11694082

Question Type:

Numeric Answer




2NO +2H, — N, + 2H,0
&l ST 800°C T STl 3T Wici 9Tl TR Ul fHesre,
did-d &, /kPadl NO/KPa =l q=d SIELE
qmrcﬂ?nam e | 5
:1|/kPa.- s)
Question: .
' 1 63.6 40.0 0.135
2 65.6 201 0.033
3 38 656 0214
4 2 636 0.106
aiid HifgdiaR a1 sffeba<t BId ----- 3118
Topic: Chemistry-Section B
Item No: 83
Question ID: 11694083
Question Type: | Numeric Answer
Question: SISISELAIED IT 125 < gl” eq?
Na,0. KO,. NO,. N,0. ClO,. NO. S0,. Cl,0
Topic: Chemistry-Section B
Item No: 84
Question ID: 11694084

Question Type:

Numeric Answer

aETd fRR SaHT SER argd! W0dig 3T YR&T 20.785 TK 'mol ! 3178,
OT&T 300 K o 500 K T qMIfad Sal HTdR® Joral gad 5000 T T8, TR Al

Question: % 5
aigd HRYM R SRAFR Hid [ddl? [Gde=d] Yulfeld] (R =8.314 TK-
Imol™

Topic: Chemistry-Section B

Iltem No: 85

Question ID: 11694085

Question Type:

Numeric Answer

MO TUSRITIR WTeid SR UP! UREE a8 HicT SRITgidl Sl

Question: 3G,
CN-,NO™, 0,, 0,%, 0,%*
Topic: Chemistry-Section B




Iltem No:

86

Question ID:

11694086

Question Type:

Numeric Answer

CaF, il UT0GTdld STqUfigdr 310 K @12.34 = 107 g/100 mL 318, TR CaF, ©1

Question: SIUIITdr 0T e < 1078 (mol.-’L)3' ~3ﬂ% (faeie Jﬂé CaF, EEUGID]
M 78 g mol ™! 31T8)

Topic: Chemistry-Section B

Item No: 87

Question ID: 11694087

Question Type:

Numeric Answer

CoCl3(NH;), TT SIcTar=al SIquI=i drgdhdl 1:1 ATHeH! GREH 3¥d aR aT

Question: .
ST AT T 3ITg.
Topic: Chemistry-Section B
Item No: 88
Question ID: 11694088

Question Type:

Numeric Answer

KMnO, d HiaH[eres il IR BT AU Sal 5dT sifas fdgear

Question: 3
do5Y Fla1 AfFgsaisd ded e,
Topic: Chemistry-Section B
Item No: 89
Question ID: 11694089

Question Type:

Numeric Answer

- yifedl St fyor= ity fehariierdr +12.6° 3118, (+) SugA oy
Question:
gulF +30° 3fTg R HH0TH WHTRig sl % 3TG.
Topic: Chemistry-Section B
Item No: 90
Question ID: 11694090

Question Type:

Numeric Answer




Question:

aTeiier ot st adiar ufte sififpas) Iared 60% S8 oy fda
U FaTE 50% 318, IR YUl 3ififehdd Udhadld Ide _ % 3ig.
[STae=1 qUITeI]

SO.H OH

@ Oleum @ NaOH (excess) @
H+
d
I i




